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General Instructions :

1. The question paper comprises of two Sections, A and B. You are to attempt both t
sechions.

2. All questions are compulsary

3. All questions of Section-A and all guestions of Section-B are to be attempted separately
4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answere

et

one ward or in ane sentence

. Question numbers 4 to 6 1n Sections-A are two marks questions. These are to be answe

in about 30 words each.

. Question numbers 7 to 18 in Section-A are three marks questions. These are t

answered 1in about 50 words each

7. Question numbers 19 to 24 in Section-A are five marks questions. These are t
answered in about 70 words cach.

8. Question numbers 25 to 33 in Section-B are multiple choice questions based on pra
skills. Each question is a one mark question. You are to select one most approg
response out of the four provided to vou.

9. Question numbers 34 to 36 in Section-B are questions based on practical skills.
question is of two marks,
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am-31 7 SECTION-A

1 aqaﬁffznmﬁiﬁwféﬁzﬂﬁihﬁfmmmwrmmﬁl

i T i i rides ination to them.
Name the tissue in animals which provides control and coordinatios

2 39 fiem =1 =15 fafau frod o= 3w 8 gia gra F1 fen 9 s asd €

Name the rule which gives the direction of induced current in a conduclor.

3 €1 Ut 1497 & =m fafau S o= e E 2891 T §)
+ Name any two green house gases.
4 S S7cll US sl < A fafgn fomd i fen on g s foe = 528 € -

Name the acids and bases from which the following salts may be obtained:

Potassium sulphate and calcivin chiloride.

5 I SR &1 WS aWaa Tl ) W % SaEEE sl 3 ame oF TEn w1 TF
Tl ¥ 3 el = e g 7 6 vw sieumEe W am sin oosy e aes men HEE
T HiTwa feean |
Metal oxides are basic in nature. Bul some metal oxides show both acidic as well as bas
behaviour. What are these oxides called? Name one such oxide and write its reaction with .
acid and a base.

6 THIE T A 58 SR T €7 38 @ g v e
How is lymph formed ? Write its main function.
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i3t @1 Tt vt gEEn gm frefa sihafaaedl & v=n 9 am fafao

(i) Ca0 +H,0 -» Ca(OH),

(i) 3BaCl, + Al (SO,)3 - 2AICI; + 3BaSO,

(i) 2 FeSOy ——1 5 FeaOy +507 +505
Name the type of chemical reaction represented by the following equation :

()  Ca0+4 H,0 - Ca(OH);

-

i) 2 FeS0; — =2, Fey0y +50; +50;

Hifean TEeiFEs & fmin & fou 3w =1 T SEnE Wwdl 1 soe =% w9 § w7 X
X gE A s m’*rfﬁ:—trr*—*—w.;r.'*nr'ai"m‘y'm.‘%Eﬁma,—aﬁmﬁﬁfﬁ%‘mﬁ

() ‘x'@w'y' @ g
(if) Hag SafEET &1 TmEGa Sai@ [, |

In one of the industrial processes used for manufacture of sodium hydroxide, a gas 'X' i
farmed as by product. The gas ‘X' reacts with dry slaked lime to give a compound "Y' which

used as a bleaching agent in textile mdustry.

()  ldentify X and'Y.

(i)  Give chemical equation of the reaction involved.

fe oTgeT § § Wode & o O Taray S 3% S9ERT S €
() o9 qm e e a a

(i) gz ag 9 # e @9 5 )
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(ili) ot 1 i S g A

itable for :
wing metals which make them suitab

state two properties of each of the follo

(i) copper and aluminium for making electric wircs.

(i) gold, platinum and silver are used to make jewellery.

{iii) copper to make hot water tank.

1 ﬁmwmﬁmmmkwﬁuﬁﬂﬁa#ﬁﬁfﬁﬁm CAIE L 5
s e s S w G FeR A S sl v T
(b) Fifas thﬂmmﬁﬁmﬁWWHW?‘
(O  wEsmeie s ueiatim #5 w ee WU aeEE =l § SR WEEeE 18
el €1
Translate the following statements into chemical equations and balance them :
{a) Load nitrate reacts with sulphuric acid to form a precipriate of iea:d suiphate and nnnc acid.
(b) Magnesium burus in the presence of nitrogen to form magnesium nitride.
() Aluminium metal strip is added in hydrochloric acid to produce aluminium chloride and
hydrogen gas.

11 ST = S fatan | S F 99l e = ge fatau

Define transpiration. State the significance of flattened structure of leaf.

12 TOHE T i e iR H {8 WER 915 S 8

Explain how nervous impulses travel in the body ?

13 fer= di wIgy &1HHT & 9 foEat Y6 & UF-US 719 &1 999 § Sooid Fiau )

Name and state briefly one function each of any three phyto-hormones.
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Calculate the heat produced when 48,000 coulombs of charbe :;1. transfered in 6 minutes
through a potential difference of 50 volts., R !
15 Wﬂ%wﬂqﬂmﬂmxaaﬂr-mmnmun'rﬁm-rw-—ﬂwm FeE W AEA 3
87 i
A circuit has a fuse of rating 3 A. What is the maximum number of 40 Walts (200 V) bulbs Py
that can be safely used in the dreuit ? L= ¥
H f
s :__,(:
16 felt ar fos & 50 m 2 wfEm 1 0 8 aﬁmﬁn?wﬁaﬁﬁ;ﬁﬁml.exm- =M 3
aaw | e s @ =g
The resistance of a wire of length 250 m is 1 ohm. If the resisivity of the material of wire is
1.6x10~% ohm metre, find the area of ross - section of the wire. How much does the
resistance change if the diameter is doubled ?
17 -ﬁﬁﬁﬂnﬁ’maﬁeﬁwmnﬁ:iﬁwmnwﬁh aw;ﬁm*?rﬁm fFasetma=1 3
I 98 J7 FE F A F e F1owe \izh 9 vE aed
(i)  HRHE F 3I94P F UF §EE G 27
(i) F M FRAE = HFE W T SR T i 5 W EE S WH S 6 e 3
HA R |
(i) 3R F WA T 5w R 0 UEE o
Aditi wants to install a solar cooker on her roof top. Her mother tries to convince her not to
do so as she is aware of the limitations of a solar cooker. But Aditi still wants to do it
(1) What is the main limitation of using a solar cooker ?
(i1) Would vou suggest Aditi to install a solar cooker at her home ? Give reason for your
" o0 ’3 ) b
r.;ﬁ r‘i/
o” A "i e 3
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() What values of Adjy are depicted in her way of thinking ?
d : = — — ¥ -rrrb;‘ .:f-m 3
B T O 1 1 7 w4 e o i R T T
" wufeq fr-[ft}'u' |
Biogas is an excellent fuel. Justify the statement by piving two reasons. Mention the mass
constituent of tmiug‘g-‘ ‘,]._“-,F‘ with i1« Peroentage
1 = .3 i - =
L] () A G 1 S E T moftfa 6 fam HoEl G m TR +4 5 5

farfem .

Fetems faerm, featersdem famua, ffam sfia faamm

(b) ‘fTﬁﬁ"’.W.ﬁfTﬂ?Fﬁ.-\MIlﬁﬁ WS T WP H SHR 24 [U @Ea S0
A 1) < jone)
3 B (140) » (01

. _ . ~—ah - | &4 d
() In a tabulyy form write the colours of the followng indicators in presence of acd an

base -
Litmus solution, phenolphthalein solution, methy] orange solution

(b) Classify the following given solutions A and B in aadic and basic, giving reason
Solution A:[H ] <[OH"] |

Solution B : [H7] > |OH"|

" (@) FEE (S wem 17) s Sfeaay (VI Sz 20) | Eeh fas faems fafad,
m-wﬁmmmmﬁm.

(@) Write electron dot structure for chlorine (At No. 17) and calcium (At No. 20). Show
the formation of calcium chloride by the transfer of electrons.

ge 6 of 13
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(b) Identify the nature of the above compound and explain three physical propertics of

such compounds.

B TNl W OWEm Heemm s A w1 Ao 39 @A fEfEn ) mm ufEm e owen 5= e s
HEYTF € 7 A 6 wohR wra @1 8 ? 39 wiwa &1 Hafer awais wsiem fafme ) o 3e-3ae
feiE |

Mention the organ and site of photosynthesis in green plants. What are the raw materials
essential for this process ? How are they obtained ? Write complete balanced chemical

equation for the process. Name the byproducts.

faz@ wiE =1 wftarm fafaw ) g9 o fofae sfam S faep=vxiga s sifsn, s

(a)

(b)  Torae WA S 2 UF 50 W 9T A 25 W R Fed ae fwad 1

(@) Define electric power. State its unit. Also derive formula of power P=V x|

(b) Which will have higher resistance: a 50 W lamp bulb or a 25 W lamp bulb and by how

many times?
e SR few um A At wited | 3F @ TE-Us E e | SRad 99w e am ey s
iy 21 @ TotEa |
Differentiate between AC and DC. Name cne source of each. Write any two advantages of

alternating current over direct current.

(@) T 90 uwERE TeE 5N SN gEe 49 @ few & Guina @ F & o o ¢
W?ma‘maﬁrﬁa'qmamamﬁﬁﬂmiﬁﬁwaﬁar;hf’unahilimgmcrﬁaﬂﬁ?qfrﬁﬁrmﬁt
SIS & ST 2

(b)  THH UHEAH TEEE &9 § A fam § 2w FIER A F TEad wE Few T, (F

T w0 E) Va4 £ SRR F —= -
- 3 il Bl UPER FES W1 3t W gl ol SIS R 9% 3= 5 ==
fesn 9 i o ? .
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() Describe an activity to determine the direction of magnetic field PTi'"-iUf(‘fd by a current
carrying straight conductor. Also show that the direction of the magnetic field is reversed on
reversing the direction of current.

®)  An  apartile,  (Which i a  positively charged particle)
enlers, a uniform magnetic field at right angles to it as shown below, Stating the relevant
principle explain in which direction will this e-particle move 2

1 ' Magnetic field

4-3 / SECTION - B

1

25 U A &1 W § U 91 F 39T 5 % g pH T IR T G SH FAI: pH 1T
pH 14 & 17l &1 Wierd 933 & =0 SR 7911 35T F g0 Wiem T RN

(a) @i aul Hien ()  en aE T

(c) e @ el (d) e a9 T

In a school labaratory, a student was provided with a pH chart by his teacher and was asked to

ohserve the colours corresponding to pH 1 and pH 14 respectively. The colours observed by him

would be :

(a) red and blue (b) blue and orange

(c) yellow and green {d) blue and red

e8of 13
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fareft Wi @ ERE TF o # R faema w fEE uw i pn e wm e ¥ fen fem o 1

26
S T A gAE 1 Fe 92 S au ¥ diew e fF 3 e 9T e e A,
(a)  Hifeanw =EEEe fawaA
(b) I =i
() T TESEANE 37
(d AT A
During an experiment a student was provided a sample solution to find the pH value. He added a few
drops of universal indicator to it and observed that the colour changed 10 green. The sample should
be of :
(a) Sodium bicarbonate solution
{b) Distilled water
() Dilute hydrochioric acid
(d) Lemon juice
27 %ﬂﬁmm@‘wzzé:ﬁqmﬁamﬁﬁmunﬁmmaﬁmaﬁhwﬁaﬁqﬁmw%:
(a) @ F e (b) ~ 8
© T () TR

The colour change of litinus paper found in a given solution of sodium hydroxide is :
(a) Red to blue (b)  Blue tored

(c) Blue to colourless (d)  Red to colourless
8 e sfaiEE § e g wed e wiea ug e R
Zn + FeS0, — ZnS0, +Fe

2Al + 32.11504 —}Alz (504 )3+Z.I't

290f 13
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() Zn (b) Fe
© Al (d) TR @ Fraitem |

From the reactions given below identify the most reactive metal -
Zn + FeS0O, —» ZnS0, +Fe
2Al + 3ZnS0, - Al (SO4 ), +Zn

(@)  Zn (b)  Fe

(c) Al (d) All are equally reactive

29 ?TFEM+B);~+MX+E$§HB1{=}TFHF.-1s{ﬁm:&?mﬁﬁ:@fé’nﬂ%ﬁﬁmﬁﬁﬂxﬁmﬁ:
(@) a7 i tgfufs wee
(b) T IR fois g
(c)  UFEE s e e

(d) fa= afg eyt weke

IfM + BX — MX + B and B is seen as reddish brown deposit, then M and BX respectively are

(2)  lronand aluminiuzm sulphate
(b) Iron and zine sulphate
(c) aluminimum and copper sulphate

(d)  Zmc and fron ahrmimimum  sulphate

W9 30 G915 0 & < WAl F1 UF 20 F e waited o e @ e T E A e

30
(@)  Fuitwd W WAl T S W U g faEi |
(b)  GREmH T GEIS U IH W U F9F fawd ww)
()  rEmn T gaifea fyem w fafv= fasaia
(d)  Fvin | Hafed fHu s = 9uE fam um
'age 10 0f 13
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When two resistors of resistance 3 and 50

3 are connected (o
LW resistors

a battery, it will haye across the

(a) Same potential difference when connected in series

(b) Same current: when connected in parallel

(c) Ditferent potential differenee when connected in parallel

(d)  Same current flowiny, through them when connected in series

= /’@\ 1
7

in
AW
P gl @
20N
o |
\Hl._\l T
—\ J

THEE SN g ufeEe § A W e w0 99 % § wEm 80 3 deE v &

TadE w2 e = §E P 3R Q & w A ) 39 5 W TV Al S 2] =i |

@ 2V by 4V (0 eV (d) L. 8V

While performing the experiment to [ind equivalemt retstance of 2 combination of resistance
by making a circuit as shown above, Reena measured reading of voltmeter “V* which gives
potential differences between I’ and Q she should find the reading to be :

@ 2V by 4V (o 6V d) 8V

32 U U w Wrfed w1 T 90 Uedl 1 TeE ® $0 90 S SE- 36 U1 & s e (ge 8 1
T T Y G F e A 5 U % sotea e | She ar @ fed @ v o st
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- . e R R T N (i [ e = 5
TR 2 T M e e s fan e s e 60 a0 i ® E e
1 e Hermrean ¥

(@) =% Fed) et gy g 9 e
(b) & fort wdt 9t fery 9 a0 1

(©) =% 5 wirm frar oy 9 e
(d) =% o3 ureasdf i figg 3 e

A portion of cach of four de-starched leaves of plant was covered with paper strips of various
colors. The plant was exposed 1o sunlight for 5 hours. Thereafter the strips were removed and
the leaves tested for starch in the covered portion. Which one out of the four leaves gave the

Positive starch test in the covered portion?
(@) That covered with black paper strip
(b)  That covered with green paper strip
(€)  That covered with white paper strip

(d)  That Covered with a transparent paper strip

3 YR E W O, s 7 e & ST e o i | e g A e @ 1
@Wﬁmﬁﬁﬁfmﬁ

(@  Fwm Ach & s wm s wwow e

(b)  TEI el H 9 W A w7 59 E)

(c)  TETIE 0 S WR e S 331 3 e ST T 4 S e

(d) 4 el 0 9@ T e =R E 59 97

Seema used totally dry seeds in the experimental set - up to show that 'CO; is released during
respiration.! After about two hours she observed that :

(a) Water level in the bent tube remains at the initial level

(b) Water level in the bent tube rises above the initial level

of 13
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Water level in the bent tube first rises

| (c)
then decre

ases from the iniy
. tial le
(d) Water level in the bent tube decreases than th t

vel
e initial levol

14 wEren § v fufE vtk 513 % <e , T AANE 3§ UF e for o S
J LEE g 2

(i) G R e T e B T 112 A 2 RO BT el e e i B e M e
(i) 38 wEmwm ¥ fEm wen w st g w2

While demonstrating a reaction in laboratory, a teacher added small amount of sodium
sulphate solution to barium chloride solution in a test tube.

(1) Name the products obtained. Are the products soluble in each other?

(i)  Write the type of chemical reactions in this case.

5 ufim =1 yuifas & gl 97 56 eial | 2

State four factors that affect resistance.

36 Jrge um e vl & HE Spd e TR W i R A SE H W T S 2
STV AT A & AT o TH 1 S g wm

A stained leaf peel has been given to you and vou have been told to temporarily mount it
before viewing it under low power microscope. What will vou do?

-plotolo-
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